1

2

(1

OGN ORI XS AR B 2 D%

MEHEXZER
THM3F6HAISH16H

Bt - ERETHE BEM2F

e EIREER

HARBRA DT

PRERIL (D 2 4REE)
(BAAT : [)

i B & PE G 222,031, 993
" JE & & & PE G 409, 599, 466
% &g PE A &t 631, 631, 459
;ﬁ WOw A 222, 000, 893
f & E o' A ' 6, 104, 261
ES A | A & 228, 105, 154
. 403, 526, 305
IEBRRAFE EBRR PE G BT (L RRAEA 13, 921, 365)
. e N A R 1,097,474, 712
" ?% e & W # M G 1,111, 303, 560
?f gé ok T S R A\13, 828, 848
ﬁ/j }g RS | Y R SRR 0
e 24 3] — L B A13,921, 048
YRR R PE S TR A317
1 U P R A13,921, 365

FERFEERE (D24
M T AL ARG RO BARREE ST O EEEEL T

BRI, £,

LT O Jitis 2 IREHE K OVt 4% AR

s KEAREZ Y, KAREA—L - 77U a2, KEXEORR
SM2FE4H9ANG 5 H 31 HE CEEHOM AL

EREHARR LSS B
- RROMEF-RE M,

) AL O R B

(ERRH 4 265 15 BR)

[H{ER RERAAS:IEN

I &0 =G oM AR Ik

Ly B R AR
SF243H 3 M55 H 31 A £ CHRALE

IZET DA K OB REOEEIZB T 2 F3E

92, 258 T-[4

SEfial% 57 [8] 2N 8, 958 44

By A R 2 19, 403 [F]
s FHRA B < THAEERE AL

« 7 R ZARERIEME 1

[Christmas in Tokyo~d& 7271
cOta7—h7ua vl b BRIACIRTEBEISR

! Zoom CTH F N RV ZH 1

A 7 ) A< A |
X 2020 B4R &

rI&

(S ~fe <)



(2) LEIEER OB, W) VE R B3 5 F3E
(ERE 4 556 2 5Bf%) 14,463 TH
- UL EINTEE SRR FEhiEE 6 Bl SN 2, 525 4
N E AP ST & -4
(3) b= oA, UE, RAFLOIERIZET 2 F%E
(B 4 556 3 5Bf%) 84,904 T-H
- BET R SkfE# 5,761 4 - RRMEFRLA e SREER 2,241 4
- I ERRGLARAT  OREEE 6,925 4
(4) LENOTEMAL 2 X 5 72 O OTFHRINE L (G123 5 F¥
(B 4 556 4 5Bf%) 17,387 TH
- [EHEE TArt Menu) OFEIT 6 [H]
- b= EHRES TART BEE HIVE) %84T 3 1A
(5) ALZET O AR O EEE (B 5 F3¥
(B 4 555 5 5 B9£%) 520, 831 T
- KHERXRZ7ZH FIHE 76,5144 « KREHXRA— FIHE 75,147 4
- KHE{EDZR I 72, 447 4

3 FEpsE¥EEtE (B 3ARED)

(1) LT OIRIITE T 5 N H & O E O EfMIZEET 2 F¥E
(EZEH 455 1 5% 126,262 TH

(2) Ab=ATEE OISR, BE &R OFRRICE T 2 F%E
(ERRES 4 456 2 5Bf%) 22,893 T

(3) fb=frEIR oA, L, RELXOERIZEE T 533
(ERRE 4 556 3 5Bf%) 83,622 T[]

(4) SULZEWOTEMAL &2 X 5 72 O OTFRINVE L GBI 5 FE
(ERRE 4 556 4 5B4%) 17,086 T

(5) L= O AR O EIEE (B 5 F3¥
(ERRE 4 4565 5 5Bf%) 519,286 T-M

4  ZFofth
T BEDORIHIZHONT
k4 B4 G EH) IH&ZE4 GREH)
FEHEE | AE G BB
(SFn 344 A 1 HgfE) (45Fn 34E 3 A 31 Hik{E)
HEE o Eil =7
(5Fn 343 H 31 HiRE)
R =1 WA 2z JR)I e
(SFn246 A 30 HtE) (Fn 245 A 27 HiRE)




